A £ 0 & A

Al A

028HE FZ 2 3| es|H Ml
A= DEtHADS= SA 0 DIEHHAS A
A HEHHAMSSEX R (LRSI Y/ LEHEEH)
el HEtHASEAS EER=E)
A 2N B G(B) - NRAY - BES 0 &y ol B o HIRS
HIEHH A2t St= 88,855,627 78,882,753 9,972,874
= 13,279,587 9,239,587 4,040,000
= 1,336,800 1,336,800 0
& 74,239,240 68,306,366 5,932,874
OllEFEH A S ALY 6,936,686 5,986,686 950,000
= 200,000 200,000 0
=S 6,736,686 5,786,686 950,000
HIEIHHAAASEX M (LS SHE /L) 6,816,3% 5,876,3% 940,000
= 200,000 200,000 0
& 6.616,3%6 5,676,3% 940,000
HEHASEZS 6.816,3%6 5,876,3% 940,000
= 200,000 200,000 0
= 6.616,3% 5,676,3% 940,000
BIEHH A HERH = 5,79%,3% 5,626,39% 170,000
201 Zet=d] 170,000 150,000 20,000
01 AlR2teldl 120,000 100,000 20,000
Lget=+Sy| 120,000 100,000 20,000
OUHEIHAHASZIIEMT RS 20,000 0 20,000
308 AXISHSOIH 5,020,000 4,870,000 150,000
1 S| 2SO0 UEE 4 X AS A 5,020,000 4,870,000 150,000
OoEtHAMEAH2E
2 & 550,000,000 550,000 400,000 150,000
NS sEH 8} 150,000 0 150,000
308 XXM SOIA 150,000 0 150,000
N S| 2SHUSE S HAS AR 150,000 0 150,000
O3Sz AULSASHEEEAL 150,000 0 150,000
FHAAHNSHIAHSOXNE NS A (S EXIY) 20,000 0 20,000
307 212+0l1H 20,000 0 20,000
02 LB HAHE X 20,000 0 20,000
OFSASHEAAHEUXNE WS 20,000 0 20,000
CIXEI 2NN Z M SHARF(IIAEXH) 350,000 0 350,000
403 MXISHHSK=01H 350,000 0 350,000
01 RIXIEHHIXtE 2 & 350,000 0 350,000
OCINEI St 2Mo 2 e dES A= 350,000 0 350,000
CXNEMSSHAI|LSUHEIZHE 50,000 0 50,000
308 ARISHMSOIE 50,000 0 50,000
N S| 2SHUSE S HAAS AR 50,000 0 50,000
OCXEESSEA)| BB I ME 50,000 0 50,000
AACINEHESH SR AMHXZ AL (AT RIH) 200,000 0 200,000
307 212+0l1H 180,000 0 180,000
02 LB HAIHE X 180,000 0 180,000
OMACINEN S S SR 2SR 180,000 0 180,000




D OIEtH A S = SA ¢ HEHASH A
D BIEHHAMASHX R (LESI Y /ULEEH)

[EEENG] =

L HEHHASE A=

k=)

Ax - BA - 3 - SAAEA) - HRAY - BES Ol &kl I 3o Z
402 SIZERHE0| M 20,000 0 20,000
01 QI 2 AL E (XM TH ) 20,000 0 20,000
CHACIN EN S E A X ME A= RIZ A 20,000 0 20,000
HH2SZHI(CIEFHAS A (O1EH/IIE}) 105,440 95,440 10,000
=&h| 105,440 95,440 10,000
Jl=&H| 105,440 95,440 10,000
202 044l 42,200 32,200 10,000
01 =LHO LI 42,200 32,200 10,000
OeER=204tl ZE 25,419,000 25,419 15,419 10,000




H & 0l & AHS B Ml A

20283 =& 2 3 LEtSIH &l

== =3 EER-E)
A2 2A - BB O(BH) - MRAY - BAS 0l &y ol &8 o CmE==T
eI 29,737,477 28,531,674 1,205,803
e £ TRt E (DS 2/ DS 2 L) 29,605,829 28,407,624 1,198,205
HoHS 4T 2 12,474,509 11,231,304 1,243,205
ADFEMSEA SR (IR RI) 2,157,000 1,947,000 210,000
403 REXISHHIS K201 & 2,157,000 1,047,000 210,000
01 RXIHXEEX 2,157,000 1,947,000 210,000
CIE SR 2L AR | BHA| A 22 3} 60,000 0 60,000
OESESMCSSDRHME DS 150,000 0 150,000
AFIEFRI CHIKE (RSD) (I E XIR) 1,707,000 925,000 782,000
308 XHXI X SOIH 504,000 75,000 429,000
11 2| 2SO HEH A N RIS AL 429,000 0 429,000
[IXI 944 & AR EFX] 9424 & 21 AFE (RRD) 429,000 0 429,000
403 REXISHHIS X201 & 1,203,000 850,000 353,000
01 XX A= 8 X 1,203,000 850,000 353,000
DEOISCHR NI X LA 13,000 0 13,000
R EACH=E 2o MIE 212 100,000 0 100,000
[JEee| AP M KRR & ALK 2 S| SH0X)| 8H 7
= AheS 240,000 0 240,000
8OIXISICHIOITH | B ZE| Ml HSoCZ B Z I L K| 2 (2= 60,000 0 60,000
HRH)
308 XL I S0I & 60,000 0 60,000
01 RXISHZABES 60,000 0 60,000
(1821 XISiCRI0ITH | BHE £l Ml HSoCE 2 B H 2
X 2 AreS 60,000 0 60,000
NEE BN 60,000 0 60,000
405 XHAHE S| 60,000 0 60,000
01 AL SZ5 =y 60,000 0 60,000
CAIZEFRBEAAY 60,000 0 60,000
AIAEIAZE S 2 X 2 ALS 11,206 0 11,206
308 Xt EHXISOI & 11,206 0 11,206
01 RXISHBAEEZ 11,205 0 11,206
CAIMBI AR RS2 XIS Al ALY 11,206 0 11,205
2OHE RSN SEI T SR T2 Y 120,000 0 120,000
308 XHXIHHIS 0| 120,000 0 120,000
01 RXISHZABES 120,000 0 120,000
Ot RSNSOI TR S AT 2N 120,000 0 120,000
ArBHEIE | H D B RS 15,322,000 15,367,000 A45,000
AR PELLERALY (ZIIEFXI) 575,000 620,000 A45,000
308 XHXISHHIS 0| 75,000 120,000 A45,000
01 RXISHIABEZ 75,000 120,000 45,000
OZ =SS ERIALY
2 75,000,008 75,000 120,000 45,000
WRE S (WetI== 21 (JIEHIIE 7,598 0 7,598
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H & Ol & AF S E Al A
20288 =& 2 3| Lete|H &
A= HEtHADSS FA AR DB
A ARG QI TR = (US| &/ e =2t
=Rl AXE S XA (SH &)
A2 RA BB O9I(SH) - A - BES ofl &t JERY HIDS2
AXHAFA D[ B 25,005,435 22,450,635 2,604,800
= 3,740,000 3,700,000 40,000
[ 136,800 136,800 0
&< 21,178,635 18,613,835 2,564,800
ARAA QI TRt = (S| /18| =Y Bt 4,239,240 4,072,440 166,800
Fas 136,800 136,800 0
< 4,102,440 3,935,640 166,800
ANMAFEL X2 4,239,240 4,072,440 166,800
[ 136,800 136,800 0
= 4,102,440 3,935,640 166,800
NHWA AR ER 2 (R RIR) 153,600 76,800 76,800
308 AHXIHMSO0IA 153,600 76,800 76,800
01 XN B EERS 153,600 76,800 76,800
OXS A=D1 H AL SR 76,800 0 76,800
M= HESLR (SR ERIR) 150,000 90,000 60,000
308 XtXIEMSO0IE 150,000 90,000 60,000
01 RSN B E2ES 150,000 90,000 60,000
DWsSa et sE X2 A
&3 150,000,000 150,000 90,000 60,000
CIXIE MABT2AA (IO EXH) 30,000 0 30,000
307 212+01™ 30,000 0 30,000
02 QIRHEAAIHE X 30,000 0 30,000
CCXNEMANBEIZ2EAIS 30,000 0 30,000
ICTES MY I TR (DED|&/UED) S 17,481,015 15,553,015 1,928,000
= 3,740,000 3,700,000 40,000
< 13,741,015 11,853,015 1,888,000
ICTEgcASHLAE 17,481,015 15,553,015 1,928,000
= 3,740,000 3,700,000 40,000
= 13,741,015 11,853,015 1,888,000
CIXNESJ MBI AMSHI Y 80,000 0 80,000
= 40,000 0 40,000
== 40,000 0 40,000
308 KEXIEHHMSOIS 80,000 0 80,000
= 40,000 0 40,000
S 40,000 0 40,000
11 S| 2S0UeE & AST AL 80,000 0 80,000
OCXEESIMUIAMSHIZE(EHE) (L
gH) 80,000 0 80,000
= 40,000 0 40,000
< 40,000 0 40,000
OIXMEXSHEHELEREXJ (2 EXR) 360,000 0 360,000
308 AXIHMSOIA 119,055 0 119,085
01 X SHHBAEXS 119,055 0 119,055




A= HEHH AT SN 4RI B
o |CTSEAYOITRI RS (D8] S/I 50| St
Sl ICTSESELNIR (el o)
A= - BA - Y HA(SAH) - NRAMNY - BES Off &4 & A Hws2
COIRE NS HNE L PSR AS 119,055 0 119,055
403 REXIEHH SAHO0I & 240,945 0 240,945
01 XXISHHIN=E X 240,945 0 240,945
DOIRN K SENB L PEX ALY 240,945 0 240,945
DN B HRISULE (LFP)IIH I A S5 B E (= 349,000 0 349,000
PESEEDAET)
403 XEXIEHHI S KH20I & 349,000 0 349,000
01 XEISHHIXH= 2 & 349,000 0 349,000
(Do 2332l SOIAE (LFP)HE 2l & S 3t
PRI 349,000 0 349,000
NHBAHIIEEME (I FX ) 86,000 0 86,000
308 XHXIHHISOI A 86,000 0 86,000
01 XXISHRIZ A XS 86,000 0 86,000
(XSS AR E (911 86,000 0 86,000
NHIAZ RSS2 2N leN XA S|P AS (20} 210,000 0 210,000
XIX—II'O_])
403 XEXIEHHI S KH20I & 210,000 0 210,000
01 KIXISHIX= R X 210,000 0 210,000
OMHIAZRER IS E BN eI EA S|
P 210,000 0 210,000
IjH|Ej )al%%ggw%%@saasg%mtﬁ?%Ar%*(z-Dr&'a 723,000 0 723,000
X2
403 KHXISHHIS K20l & 723,000 0 723,000
01 KEXISHIXH= R X 723,000 0 723,000
OHHER| 2 24 S0 S 5lBaasa S0B8PS
A 723,000 0 723,000
2OHH TN RS SSIH RS KIS (01 XX ) 120,000 0 120,000
308 KHRIEHAISO0I & 120,000 0 120,000
01 KIXISHHIZ A 2 X2 120,000 0 120,000
DOIRE SIS ZNS L2 120,000 0 120,000
SAI0ICI0{ A QI TR & (DH51D| &/ TS| S e 3,250,000 2,750,000 500,000
SADICIOA YL 3,250,000 2,750,000 500,000
MIC2024 2 A = E T Al 22 500,000 0 500,000
308 KHXIEHHISOI A 500,000 0 500,000
11 2| 2SOIHEHZ A S SIS ALI | 500,000 0 500,000
CIMC2024Z A 2 E XAl 22 500,000 0 500,000
2| (4XHAIRD 181D (DIEHJIEH) 8. 180 75,180 10,000
l= 2| 8,180 75,180 0,000
PICETT 8,180 75,180 0,000
202 Ot 39,900 29,900 0,000
01 =LHo1H| 39,900 29,900 10,000
EEEESSETIVE] 2 39,900,002 39,900 29,900 10,000




H & 0l & AHSH H M A
202338 =& 2 3| LBHSIH &
A= HEtHADSS FA  SOoIEHL
M OB A EHSH LIS I /UBHEHH)

Ol XGEHIESHOIMA - I (69 =)
A= 2N - BB S9(S) - HISAY - BES il v ol H o HlDE2
SICIOIE 2t 3,349,560 3,358,360 A8,800
CIOIE DBt H S A SH LB ST /L BHE ) 3,301,853 3,310,653 A8,800

KNASHSSHIMA - MB 1,207,013 1,215,813 A\8,800
KA SHEAIR IS XA 929,618 938,418 A8,800
308 KEXIEHMSOIH 929,618 938,418 28,800

01 XN BAELS 929,618 938,418 A8,800
CIAFS I ZS A Z& 299,200,000 299,200 308,000 A8,800
AZEJA=SHEA 101,120 101,120 0
201 23| 0 21,120 A21,120
01 AFS2t2ltl 0 21,120 A21,120
Oex= 0 21,120 N21,120
OSHLEHOIHZAW I (H U2 (U=
HE) 0 21,120 A21,120
405 KHAHE SHI 21,120 0 21,120
01 AL =S F=H| 21,120 0 21,120
COSHLYHOIHEAN Y (U=sEHA) 21,120 0 21,120




H & Ol & AF S E Al A
20288 =& 2 3| Lete|H &
A= HEtHADSS A BESAY
A ANEISTE(LBSIHY/LBHHE)

ol MAKYE RS (SH &)
4224 BH. OS(SH) - SN - BaS of e ol B o DS
2234 23,776,469 18,555,398 5,221,071

= 9,339,587 5,339,587 4,000,000
[ 1,200,000 1,200,000 0
&< 13,236,882 12,015,811 1,221,071
ADIELSTE (LS I/ LEET) 10,041,041 10, 143,406 102,365
= 339,587 339,587 0
< 9,701,4%4 9,803,819 102,365
FSPNDNRIESE e 6,588,512 6,631,390 N42,878
FESHUYRY 3,469,922 3,512,800 N42,878
201 L= 2,806,534 2,842,800 N\36,266
02 324l 2,789,734 2,826,000 N36,266
OZ3Z22=LHAl 1,886,734 1,923,000 N36,266
OEEBSUHEIILANEZS
23 1,579,734,000& 1,579,734 1,616,000 A36,266
403 AXIEHMSAH=0lH 270,000 180,000 90,000
01 MXISHH A =22 270,000 180,000 90,000
OAIZADIECISYSAIABAEIR
& & 270,000,000 270,000 180,000 90,000
405 KHAHF SH 303,388 400,000 296,612
01 M ESFH S| 303,388 400,000 A9B,612
ORHSAUE AL XAIAE W
&3 303,388,000 303,388 400,000 A96,612
FESMANAEIIBIES 1,050,813 1,110,300 N59,487
ZEAAE SOt 393,013 439,500 N4B,487
201 L2 48,000 53,000 25,000
01 AtR2telbl 48,000 53,000 25,000
Leet=&H| 48,000 53,000 25,000
OHtolef A T2 )82
& & 48,000,000& 48,000 53,000 25,000
405 KHAHE SH] 258,513 300,000 A41,487
01 TR ESFSHI 258,513 300,000 NA41,487
CSEOHEHI WA
2 & 258,513,000 258,513 300,000 NA41,487
FEEs 2 dAHZEt 637,000 650,000 213,000
201 L2 637,000 650,000 213,000
02 S3=24Hl 637,000 650,000 213,000
LIAIE EHI =X 637,000 650,000 213,000
O24AZEANOIB B S22 RIM A2 S
&3 637,000,000 637,000 650,000 213,000
HE A XA 1,550,958 1,550,958 0
= 339,587 339,587 0
S 1,211,371 1,211,371 0
FESMEXZIDIXNE 552,202 562,202 0
= 276,101 276,101 0




A= HIEHHA DS SN BESAD
I ANIELSTIE(LLTIHT/LBHT)
ool ARG (ol m2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t ol o HIRE2
= 276, 101 276,101 0
202 01| 0 3,000 £3,000
2 0 1,500 A1,500
= 0 1,500 A1,500
NETEE 0 3,000 3,000
OHBSABEI|LRET0IE|(HA2) (B
=) 0 3,000 £3,000
2 0 1,500 A1,500
= 0 1,500 A1,500
301 YBHHFZ 547,362 544,362 3,000
2 273,681 272,181 1,500
= 273,681 272, 181 1,500
14 JIEH2 A3 3,000 0 3,000
OHRSASEID|LSASLAESH (B2
B12) 3,000 0 3,000
= 1,500 0 1,500
= 1,500 0 1,500
ADIEAIEIQI TRt R (B8 &/ el 2 8) 13,634,042 8,310,692 5,323,350
= 9,000,000 5,000,000 4,000,000
= 1,200,000 1,200,000 0
= 3,434,042 2,110,692 1,323,350
ADIENEISSLR 13,634,042 8,310,692 5,323,350
2 9,000,000 5,000,000 4,000,000
2 1,200,000 1,200,000 0
= 3,434,042 2,110,692 1,323,350
ADIENEISSEAS2SN 243,042 246,602 3,650
201 Yer2y| 243,042 246,602 73,650
2 2222t 237,042 240,692 13,650
O2ZR23LHA 237,042 240,692 13,650
OADIEANEISBEHENSIHASE
A 237,042,002 237,042 240,692 3,650
SNEEEENTESTESEPIEN) 127,000 0 27,000
408 RXISHH SRH=O0I & 27,000 0 27,000
01 XX 2 S 127,000 0 127,000
OCIXZER TS A 127,000 0 127,000
ADIENEIEZAStA 5,200,000 0 5,200,000
2 4,000,000 0 4,000,000
= 1,200,000 0 1,200,000
408 KHXISHRIS KH= 0| & 5,200,000 0 5,200,000
2 4,000,000 0 4,000,000
= 1,200,000 0 1,200,000
01 XIS E 5,200,000 0 5,200,000
OADFEAIEIZRESAALYS 5,200,000 0 5,200,000
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